JL_

Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
1) 802 2) 501 3) 803 4 504
- 126 - 202 - 721 - 72 ”
3.
4,
5 806 6 509 7 605 8 309 >
- 805 -180 - 16 - 216 6
7.
8.
9 405 100 102 1) 505 12) 908 9.
- 22 - 16 - 483 - 439
—_— e 10.
11.
12.
13) 701 14) 402 15) 909 16) 909 13.
- 260 - 230 -510 - 27
- - - 14.
15.
16.
17) 107 18) 906 19) 906 20) 902 17,
- 10 - 21 - 397 -179
I I - 18.
19.
20.
1-10 [95/90(85(80| 75| 70| 65|60 55| 50
Math www.CommonCoreSheets.com 11-20(45[40(35|30|25|20|15{10[ 5 | 0
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
1 676
1) 802 2 501 3 803 4 504
-126 -202 -721 - 72 2 299
676 299 82 432
3. 82
4 432
1
5 806 6) 509 7 605 8 309 >
- 805 - 180 - 16 - 216 . 329
1 329 589 93
7 589
8. 93
9 405 10 102 1) 505 12) 908 o. __ 383
- 22 - 16 - 483 - 439 o 86
383 86 22 469 '
11, 22
12, 469
13) 701 14) 402 15 909 16) 909 13. 441
- 260 - 230 - 510 - 27 -
441 172 399 882 14.
15. 399
16. 882
17) 107 18) 906 199 906 200 902 17. 97
- 10 - 21 - 397 ;179
97 885 509 723 18 885
10, 509
0. 723
1-10 195(90(85|80| 7570|6560 |55 |50
M ath www.CommonCoreSheets.com 11-20{45140(35(30|25|20(15(10|1 5| O




C:h Subtracting Across Zero

Name:
Use subtraction to solve the following problems. Answers
383 172 299 93 399
1 589 82 432 676 1.
329 86 441 469 22
2.
1) 802 2) 501 3) 803 3.
-126 - 202 -721
- 4,
5.
6.
4 504 5 806 6) 509
- 72 - 805 - 180 &
8.
9.
) 605 8 309 9 405 10.
- 16 - 216 - 22
_ 11.
12.
13.
10) 102 11) 505 12) 908
14.
- 16 - 483 - 439
15.
13) 701 14) 402 15) 909
- 260 - 230 -510
Modified 1-10 | 93[87[80| 73|67 |60] 53|47 |40]33]
[ Math www.CommonCoreSheets.com 1 11-15|27(20|13| 7 | O
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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
1) 904 2) 304 3 107 4 208
- 142 - 127 - 14 - 66 ”
3.
4,
5) 601 6 303 7 101 8 701 >
- 26 -198 - 77 -_381 6
7.
8.
9 602 100 301 1) 701 12) 206 9.
- 189 - 69 - 393 -_111 "
11.
12.
13) 206 14) 101 15 501 16) 306 13.
- 186 - 99 - 315 - 231
- - 14.
15.
16.
17y 707 18) 606 19) 906 20) 306 17,
- 591 -373 - 496 - 253
I I - 18.
19.
20.
1-10 [95/90(85(80| 75| 70| 65|60 55| 50
Math www.CommonCoreSheets.com 11-20(45[40(35|30|25|20|15{10[ 5 | 0
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
. 762
) 904 2 304 3 107 5 208 ’
- 142 -127 - 14 - 66 2 177
762 177 93 142
3, 93
4 142
5 601 6) 303 7 101 8 701 > 275
- 26 - 198 - 77 -381 . 105
575 105 24 320
7 24
8. 320
9 602 10 301 1) 701 12 206 o. __ 413
- 189 - 69 - 393 ;111 " 232
413 232 308 95 '
11. 308
12 95
13) 206 14) 101 15 501 16) 306 13. 20
- 186 - 99 - 315 - 231 )
20 2 186 75 14.
15, 186
16. 75
17) 707 18) 606 199 906 200 306 17. 116
- 591 -373 -496 -_253
116 233 410 53 8. 233
19, 410
20, 93
1-10 [95|190|85(80(75|70|65(|60|55|50
M ath www.CommonCoreSheets.com 11-20145|40(35(30|25(20(15|10| 5 O
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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
93 95 20 320 2
105 142 232 308 177 1.
24 762 575 186 413
2.
1) 904 2 304 3 107 3
- 142 -127 - 14
4,
5.
6.
4 208 5 601 6) 303
- 66 - 26 - 198 b
8.
9.
7 101 8 701 9 602 10.
- 77 - 381 - 189
11.
12.
13.
100 301 1) 701 12) 206
14,
- 69 - 393 -111
15.
13) 206 14) 101 15) 501
- 186 - 99 - 315
[ M ath M odified 2 1111105 ? 2(7) 2(3) 773 %7 60 | 53|47 |40]33]
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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
1) 5009 2) 206 3 902 4 207
- 232 - 129 - 470 - 186 ”
3.
4,
5) 602 6) 804 7 805 8 309 >
- 340 -610 - 546 -_125 6
7.
8.
9 508 10) 504 1) 102 12) 805 9.
- 182 - 296 - 38 —_680 0
11.
12.
13) 408 14) 907 15 107 16) 106 13.
- 58 - 873 - 46 - 74
- - 14.
15.
16.
17) 805 18) 702 19) 906 20) 605 17,
- 736 -394 -712 - 241
I I - 18.
19.
20.
1-10 [95/90(85(80| 75| 70| 65|60 55| 50
Math www.CommonCoreSheets.com 11-20(45[40(35|30|25|20|15{10[ 5 | 0
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
1 277
1) 509 2 206 3 902 4 207
-232 -129 -470 ;186 2 77
277 77 432 21
3 432
4 21
5 602 6) 804 7) 805 8 309 > 262
- 340 - 610 - 546 - 125 . 194
262 194 259 184
7 259
8. 184
9 508 10 504 1) 102 12) 805 0. __ 326
-182 - 296 - 38 - 680 o 208
326 208 64 125
11. 64
12 125
13) 408 14) 907 15 107 16) 106 13. 350
- 58 -873 - 46 - 74 2
350 34 61 32 14.
15. 61
16. 32
17) 805 18) 702 190 906 200 605 17. 69
- 736 -394 -712 ;241
69 308 194 364 8. 308
19. 194
0. 364

] www.CommonCoreSheets.com
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C:h Subtracting Across Zero

Name:
Use subtraction to solve the following problems. Answers
259 184 34 194 21
125 350 77 277 208 1.
326 64 61 262 432
2.
1) 5009 2) 206 3) 902 3.
- 232 -129 -470
S 4,
5.
6.
4 207 5 602 6) 804
- 186 - 340 - 610 &
8.
9.
) 805 8 309 9 1508 10.
- 546 -125 -182
11.
12.
13.
10) 504 1) 102 12) 805
14.
- 296 - 38 - 680
15.
13) 408 14 907 15 107
- 58 - 873 - 46
[ M ath Modified 3 1111105 ? 2(7) 2(3) 773 %7 6053|4740 33|

www.CommonCoreSheets.com
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Subtracting Across Zero Name:
Use subtraction to solve the following problems. ANnswers
1.
1) 802 2) 304 3) 407 4 901
- 597 - 86 - 300 - 648 ”
3.
4,
5 405 6 804 7 701 8 405 >
- 76 - 759 - 518 - 69 6
7.
8.
9 103 100 804 1) 203 12) 703 9.
- 83 - 242 - 34 - 331
—_— —_ 10.
11.
12.
13) 607 14) 304 15) 407 16) 509 13.
- 568 - 87 -198 -463
- - 14.
15.
16.
17) 401 18) 605 19) 508 200 707 17,
-179 -527 -277 -142
- - - 18.
19.
20.
1-10 [95/90(85(80| 75| 70| 65|60 55| 50
Math www.CommonCoreSheets.com 11-20(45[40(35|30|25|20|15{10[ 5 | 0
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
1 205
1) 802 2 304 3 407 4 901
- 597 - 86 - 300 ;648 2 218
205 218 107 253
3 107
4 253
5 405 6) 804 7 701 8 405 > 329
- 76 - 759 -518 - 69 . 45
329 45 183 336
7 183
8 336
9 103 10 804 1) 203 12 703 0 20
- 83 - 242 - 34 - 331 o 562
20 562 169 372
11. 169
12. 372
13) 607 14) 304 15 407 16) 509 13. 39
- 568 - 87 -198 -463 217
39 217 209 46 14.
15, 209
16. 46
17) 401 18) 605 199 508 200 707 17. 222
-179 -527 -277 ;142
222 78 231 565 18 78
10, 231
20, 565
1-10 [95|190|85(80(75|70|65(|60|55|50
M ath www.CommonCoreSheets.com 11-20145|40(35(30|25(20(15|10| 5 O
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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
183 253 218 45 39
329 217 336 107 20 1.
169 562 205 372 209
2
1) 802 2 304 3 407 3,
- 597 - 86 - 300
— — 4,
5.
6.
4 901 5 405 6) 804
- 648 - 76 - 759 b
8.
0.
n 701 8 405 9 103 10
-518 - 69 - 83
—_ —_ 11.
12.
13.
100 804 1) 203 12) 703
14.
- 242 - 34 - 331
15.
13 607 14) 304 15) 407
- 568 - 87 - 198
[ M ath M odified 4 1111105 ? 2(7) 2(3) 773 %7 60 | 53|47 |40]33]

www.CommonCoreSheets.com
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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
1) 906 2) 306 3 905 4 701
- 106 - 239 - 214 - 557 ”
3.
4,
5) 205 6 501 7 401 8 406 >
- 22 -157 - 52 -_309 6
7.
8.
9 404 10) 808 1) 205 12) 409 9.
- 42 - 403 -103 - 395 o
11.
12.
13) 902 14) 606 15) 405 16) 602 13.
-672 - 39 - 337 - 165
- - 14.
15.
16.
17) 804 18) 503 19) 308 20) 401 17,
- 318 - 138 - 301 - 332
I I - 18.
19.
20.
1-10 [95/90(85(80| 75| 70| 65|60 55| 50
Math www.CommonCoreSheets.com 11-20(45[40(35|30|25|20|15{10[ 5 | 0
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
. 800
) 906 2 306 3 905 5 701 '
- 106 - 239 - 214 - 557 ” 67
800 67 691 144
3 691
4 144
5 205 6) 501 7 401 8 406 > 183
- 22 - 157 - 52 -309 . 344
183 344 349 97
. 349
8 97
9 404 10 808 1) 205 12 409 J 362
- 42 - 403 -103 - 395 o 405
362 405 102 14 '
11, 102
12 14
13) 902 14) 606 15) 405 16) 602 13 230
- 672 - 39 - 337 - 165 57
230 567 68 437 14.
15, 63
16, 437
17) 804 18) 503 199 308 200 401 17 486
- 318 - 138 - 301 - 332
486 365 7 69 8. 365
10, 7
20, 69
1-10 195(90(85|80| 7570|6560 |55 |50
M ath www.CommonCoreSheets.com 11-20{45140(35(30|25|20(15(10|1 5| O
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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
230 97 144 800 183
68 567 362 344 102 1.
349 67 14 405 691
2.
1) 906 2) 306 3) 905 3.
- 106 - 239 -214
- 4,
5.
6.
4 701 5 205 6) 501
- 557 - 22 - 157 b
8.
9.
) 401 8 406 9 404 10.
- 52 - 309 - 42
= - 11.
12.
13.
10) 808 1) 205 12) 409
14,
- 403 - 103 - 395
15.
13) 902 14) 606 15 405
-672 - 39 - 337
[ M ath M odified 5 1111105 ? 2(7) 2(3) 773 %7 60 | 53|47 |40]33]

www.CommonCoreSheets.com
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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
1) 605 2) 609 3 701 4 301
- 255 -120 - 219 - 240 ”
3.
4,
5) 307 6 201 7 906 8 309 >
-272 - 42 - 180 - 77 6
7.
8.
9 205 10) 906 11) 305 12) 303 9.
- 85 - 165 - 183 -218 0
11.
12.
13) 405 14) 103 15) 104 16) 701 13.
- 314 - 42 - 68 - 406
- - 14.
15.
16.
17) 109 18) 401 19) 503 200 601 17,
- 51 -194 -402 - 556
I I - 18.
19.
20.
1-10 [95/90(85(80| 75| 70| 65|60 55| 50
Math www.CommonCoreSheets.com 11-20(45[40(35|30|25|20|15{10[ 5 | 0
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
1 350
1) 605 2) 609 3 701 4) 301
- 255 - 120 - 219 - 240 2 489
350 489 482 61
3 482
4. 61
5 307 6 201 7 906 8 309 > 35
-272 - 42 - 180 - 77 6 159
35 159 7126 232
7 726
8. 232
9 205 10 906 1) 305 12) 303 0. __ 120
- 85 - 165 - 183 - 218 o 741
120 741 122 85
11, 122
12 85
13) 405 14) 103 15 104 16) 701 13 91
- 314 - 42 - 68 - 406 61
91 61 36 295 14
15, 36
16. 295
17) 109 18) 401 199 503 200 601 17. 58
- 51 -194 -402 -_556
58 207 101 45 8. 207
19, 101
20, 45
1-10 [95|190|85(80(75|70|65(|60|55|50
M ath www.CommonCoreSheets.com 11-20145|40(35(30|25(20(15|10| 5 O
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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
61 85 350 122 35
91 741 120 482 36 1.
232 159 489 61 726
2,
1) 605 2) 609 3 701 3.
- 255 -120 -219
il 4.
5.
6.
4 301 5 307 6) 201
- 240 - 272 - 42 b
8.
9.
) 906 8 309 9 205 10.
- 180 - 77 - 85
—_ 11.
12.
13.
10) 906 11) 305 12) 303
14.
- 165 - 183 -218
15.
13) 405 14) 103 15) 104
- 314 - 42 - 68
[ M ath M odified 6 1111105 ? 2(7) 2(3) 773 %7 60 | 53|47 |40]33]

www.CommonCoreSheets.com
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Subtracting Across Zero Name:
Use subtraction to solve the following problems. ANnswers
1.
1) 705 2) 507 3) 401 4 907
-491 -462 - 286 -_366 2
3.
4,
5) 701 6 809 7 207 8 708 >
-521 - 705 - 53 -_354 6
7.
8.
9 208 10) 808 1) 503 12) 606 9.
- 68 - 722 - 285 -413 0
11.
12.
13) 202 14) 701 15) 705 16) 705 13.
- 13 -117 - 293 - 601
- 14.
15.
16.
17) 402 18) 408 19) 905 200 502 17.
- 66 -136 - 845 - 317
- - - 18.
19.
20.
1-10 [95/90(85(80| 75| 70| 65|60 55| 50
[ Math ] WWww.CommonCoreSheets.com 11-20(45[40(35|30|25|20|15{10[ 5 | 0
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
L 214
1) 705 2 507 3 401 4 907
- 491 - 462 - 286 - 366 ” 45
214 45 115 541
3 115
4 541
5 701 6) 809 7 207 8 708 > 180
- 521 - 705 - 53 - 354 . 104
180 104 154 354
7 154
8. 354
9 208 10 808 1) 503 12 606 J 140
- 68 - 722 - 285 -413 0 36
140 86 218 193 '
11, 218
12 193
13) 202 14) 701 15 705 16) 705 13 189
- 13 - 117 - 293 - 601 cas
189 584 412 104 14.
15, 412
16, 104
17) 402 18) 408 199 905 200 502 17 336
- 66 - 136 - 845 - 317
336 272 60 185 8. 212
19, 60
20, 185
1-10 [95|190|85(80(75|70|65(|60|55|50
M ath www.CommonCoreSheets.com 11-20145|40(35(30|25(20(15|10| 5 O
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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
189 86 104 541 45
354 193 584 140 180 1.
214 412 218 154 115
2,
1) 705 2) 507 3) 401 3.
-491 -462 - 286
— 4.
5.
6.
4 907 5 701 6) 809
- 366 - 521 - 705 b
8.
9.
207 8 708 9 208 10.
- 53 - 354 - 68
v - 11.
12.
13.
10) 808 1) 503 12) 606
14.
-722 - 285 -413
15.
13) 202 14) 701 15 705
- 13 -117 - 293
[ M ath M odified 7 1111105 ? 2(7) 2(3) 773 %7 60 | 53|47 |40]33]

www.CommonCoreSheets.com
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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
1) 609 2) 203 3 206 4 506
- 563 - 26 - 156 - 348 ”
3.
4,
5 603 6 308 7 309 8 107 >
=504 - 88 - 260 - 91 6
7.
8.
9 708 10) 303 11) 608 12) 101 J
- 262 - 73 -211 —_100 0
11.
12.
13) 209 14) 408 15) 402 16) 604 13.
- 84 - 60 -134 - 295
- - 14.
15.
16.
17) 403 18) 606 19) 308 200 701 17,
-270 -113 - 47 - 199
I I - 18.
19.
20.
1-10 [95/90(85(80| 75| 70| 65|60 55| 50
Math www.CommonCoreSheets.com 11-20(45[40(35|30|25|20|15{10[ 5 | 0
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
N 46
1) 609 2 203 3 206 4 506
- 563 - 26 - 156 - 348 ” 177
46 177 50 158
3, 90
4 158
5 603 6) 308 7 309 8 107 > %9
- 504 - 88 - 260 - 91 . 220
99 220 49 16
- 49
8. 16
9 708 100 303 1) 608 12) 101 o. 446
- 262 - 73 - 211 - 100 o 230
446 230 397 1
1 397
12 1
13) 209 14) 408 15 402 16) 604 13 125
- 84 - 60 -134 - 295 8
125 348 268 309 14.
15, 268
16. 309
17) 403 18) 606 19) 308 200 701 17 133
- 270 - 113 - 47 - 199
133 493 261 502 18, 493
10, 261
20, 502
1-10 195(90(85|80| 7570|6560 |55 |50
M ath www.CommonCoreSheets.com 11-20{45140(35(30|25|20(15(10|1 5| O
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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
348 125 158 220 446
16 50 268 46 49 1.
397 177 230 99 1
2.
1) 609 2) 203 3) 206 3.
- 563 - 26 - 156
- - 4,
5.
6.
4 506 5 603 6) 308
- 348 - 504 - 88 b
8.
9.
) 309 8 107 9 708 10.
- 260 - 91 - 262
— —_— 11.
12.
13.
100 303 1) 608 12) 101
14,
- 73 -211 - 100
15.
13) 209 14) 408 15 402
- 84 - 60 - 134
[ M ath M odified 8 1111105 ? 2(7) 2(3) 773 %7 60 | 53|47 |40]33]

www.CommonCoreSheets.com
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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
) 701 2) 508 3 206 4 108
- 632 - 360 - 202 - 39 ”
3.
4,
5) 203 6 709 7 908 8 109 >
- 202 -566 - 835 - 73 6
7.
8.
9 508 10) 205 11) 904 12) 708 9.
- 141 - 199 - 566 - 338 0
11.
12.
13) 409 14) 308 15) 503 16) 605 13.
- 37 -160 -223 - 33
- 14.
15.
16.
17) 905 18) 504 19 204 20) 602 17,
- 632 - 386 - 72 -118
I I - 18.
19.
20.
1-10 [95/90(85(80| 75| 70| 65|60 55| 50
Math www.CommonCoreSheets.com 11-20(45[40(35|30|25|20|15{10[ 5 | 0
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
1 69
) 701 2) 508 3) 206 4 108
- 632 - 360 - 202 - 39 2 148
69 148 4 69
3 4
a 69
5, 1
5 203 6) 709 ) 908 8 109
- 202 - 566 - 835 - 73 6 143
1 143 73 36
7 73
8 36
9 508 10) 205 1) 904 12) 708 0. 367
-141 -199 - 566 ;338 " 6
367 6 338 370 '
11, 338
12. 370
13) 409 14) 308 15 503 16) 605 13 372
- 37 -160 -223 - 33 148
372 148 280 572 .
15, 280
16. 572
17) 905 18) 504 19) 204 20) 602 17. 273
- 632 - 386 - 72 ;118
273 118 132 484 8 118
10. 132
20. 484
1-10 [95]90] 858075 [ 70[ 6560 [ 55 [ 50
M at h www.CommonCoreSheets.com 11-20145|40(35(30|25(20(15|10| 5 O




C:h Subtracting Across Zero

Name:
Use subtraction to solve the following problems. Answers
148 1 372 338 370
4 6 69 73 36 1.
148 280 69 367 143
2.
) 701 2 508 3 206 3
-632 - 360 - 202
S - - 4,
5.
6.
4 108 5 203 6) 709
- 39 - 202 - 566 &
8.
9.
) 908 8 109 9 508 10.
- 835 - 73 - 141
-~ 11.
12.
13.
10) 205 11) 904 12) 708
14.
- 199 - 566 - 338
15.
13) 409 14) 308 15) 503
- 37 - 160 -223
[ M ath Modified 9 1111105 ? 2(7) 2(3) 773 %7 6053|4740 33|

www.CommonCoreSheets.com




JL_

Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
1) 908 2) 804 3) 401 4 703
- 608 -103 - 332 -509 ”
3.
4,
5 809 6 201 7 308 8 902 >
=399 - 70 - 57 - 62 6
7.
8.
9 906 100 107 1) 203 12 707 9.
- 664 - 83 -104 - 73
—_— e 10.
11.
12.
13) 101 14) 509 15) 402 16) 608 13.
- 61 - 299 - 187 -522
- - 14.
15.
16.
17y 201 18) 408 190 107 200 702 17,
- 98 - 320 - 11 -167
I I - 18.
19.
20.
1-10 [95/90(85(80| 75| 70| 65|60 55| 50
[ M ath ] Www.CommonCoreSheets.com 10 11-20[45]40[35[30]| 25| 20[15|10{ 5| O




ﬂh Subtracting Across Zero

Name:. Answer Key
Use subtraction to solve the following problems. Answers

1 300
1) 908 2 804 3 401 4 703

- 608 -103 - 332 ;509 2 701
300 701 69 194

3, 69

4 194

5 809 6 201 7 308 8 902 > 410

- 399 - 70 - 57 - 62 . 131
410 131 251 840

7 251

8. 840

9 906 100 107 1) 203 12) 707 0. 242
- 664 - 83 -104 - 73

- 10. 24
2472 24 99 634

11, 99

12, 634

13) 101 14) 509 150 402 16) 608 13, 40

- 61 - 299 - 187 -522 10

40 210 215 86 14.

15, 215

16. 86

17) 201 18) 408 19 107 200 702 17. 103
- 98 -320 - 11 -_167

103 88 96 535 18 88

10, 96

20, 535

[ Math ] www.CommonCoreSheets.com 10

1-10 | 95

90

85

80

75

70| 65[60]| 55|50

11-20| 45

40

35

30

25

20115101 5( 0




C:h Subtracting Across Zero

Name:
Use subtraction to solve the following problems. Answers
300 251 40 24 634
210 840 701 131 69 1.
215 242 410 99 194
2.
1) 908 2) 804 3) 401 3.
- 608 - 103 - 332
- - 4,
5.
6.
4 703 5 809 6) 201
- 509 - 399 - 70 &
8.
9.
N 308 8 902 9 906 10.
- 57 - 62 - 664
—_ 11.
12.
13.
10) 107 1) 203 12) 707
14.
- 83 -104 - 73
15.
13) 101 14) 509 15 402
- 61 - 299 - 187
[ war 10 phhre

www.CommonCoreSheets.com
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